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M 22
N PRNANY U BRISBE MY
el 2EEY W 2BW SXBE & (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O#EA HERD oY
140,000,000 *14] 140,000
o4l 288 140,000, 0002 %9.97% 13,958
201 et 3| 5,160 3,580 1,580
01 At 22|l 5,160 3,580 1,580
OHHEM HE=ES 2L 2,080
—2% 20,0002 ~40H 800
—S=cH 2,0003 *40H 80
—225 30,0002 x40 1,200
OBATA HE B2 S40t HA
88,0002 #3504 A 3,080
AEISHHA 29 129,818 136,195 6,377
101 @124H| 85,958 83,3% 2,563
M ORIMZZ2NSE S 85,958 83,395 2,563
OAIEISOH A JIAF 2121 85,958
—Jl2= 79,2003 x2H+222Ux 122 41,818
—F=5=4 79,2008 x2& +523] 8,237
—&0=2 1,742,400 x2E +400% 13,940
—SEFOHI 1,742, 4003 x2E +23] 6% 4,182
—EX= 1,742,400 x2&H 3,485
iEPAE =,
79,2003 x2EH x 152 %250f% 5,940
—A2te|=E
14,8503 *10AI 2H+2 &= 123 3,564
—=8le= 2,800,000 «12& *4. 5% 1,512
—2IEE 2,800,000 3«2 #1221 +3.98% 2,675
—IEEE 2,800,000 «2EH =122 +0. Fb 605
201 et 3| 41,700 52,800 A11,100
01 At2t2l] 6,600 11,200 24,600
OAIEISOoHA S22 M
1,200,000 22 2,400
OAEIS=O0HA 2Y =258 FY
300,000 %10 3,000
OAEISUHHA DAL 225 7Y
300,000 x2H *23] 1,200
2 S22l 35,100 39,100 24,000
OAEIFOHA THSRHA
50,0002 *2CH 100
OAEIS0HA 28z
5,000,000 =2CH 10,000
OAIEISF0H A FFHI
10,000, 0002 =2CH 20,000
OAIEISOIHA SXI2elH]
5,000,000& 5,000
401 AlEHIZ R0 2,160 0 2,160
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N PRNANY U BRISBE MY
el 2EEY W 2BW SXBE & (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 2,160 0 2,160
OAEISO0HA 388 et M&
1,080,000 *20H A 2,160
NIEtXIE AHIA A 333,000 333,000
201 Zet=3h] 1,000 1,000
01 AtR2t2|HI 1,000 1,000
OHMEXIE MEIA 222 M
1,000& *1,000% 1,000
301 LELEE S 2,000 2,000
11 dALEEIXIRE S 2,000 2,000
O==rgda WEA 2tE3
10,0002 100 #2353 2,000
307 elzto| & 150,000 150,000
02 2B YAIHE £ 80,000 80,000
OANEHl XI& 5,000 *802 *4004! x50f% 80,000
05 git?(& = 70,000 0 70,000
OAME= 3.2 H&ABlA S99
70,000,000& *14] 70,000
405 AHaHE S 180,000 180,000
01 AL =S F = 180,000 180,000
OETRHE 2
150,000 *3A| E*4004! 180,000
SqaZong 9,436,812 12,385,139 N2,948,327
= 4,289,000
= 766,000
== 1,829,800
o 2,562,012
S22t JHEA 998,902 2,015,139 1,016,237
101 e124d| 144,907 114,866 30,041
M ORNZZ2NSE S 144,907 114,866 30,041
OSzdd S 22l JIZHIZ2A 2= 73,088
—JlZ2= 79,2003 x2H+222U x 12 41,818
-5+ 79,2003 x2& x52== 8,237
—a0= 1,742,400 x2H x100%*42] 13,940
—2FEIH| 1,742, 40021422 +60%+23] 4,182
—22xed RIENLY
79,2002 2% * 12! 159
—BUaRLsy
79,2002 x2EH 102! % 150f% 2,376
—oRRI LY
79,2003 x28 15 2,376
OJIIRINIZ 2 4UH2E 2 4,53
—1EEE 54,966,000 *0.65% 358
—A=RE3 54,966,0002 4. 5% 2,474




M 22
M BENANY U BRISBE D
Rl SAENY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—JdIE2E= 54,966,000 *3. 1% 1,704
OB2ASH, FEA S A2 2| el2l| 45,510
—H= 2 79,2002 x10F 20! 15,840
—Z&t ATHX Ztel(AlH], 2= 8)
79,2003 x10E 10! 7,920
a2 22 Y AE HY
150,000 x2& #2353 +5& 3,000
—ZH0] & 150,000 x5& +53|+5& 18,750
O243 22 22l (EHD] S) 2] 21,773
—H= 2t 79,2003 x8& x5 +42] 12,672
—Z3 AWK 2e(IE, Al 8)
79,2003 x4 +32 %23 1,901
—=SHl &Y 150,0002 x4 & »4 & 32 7,200
201 fer=3| 47,871 47,877 YaNG]
01 At 22|l 26,474 26,474 0
OSTHg AT S2SAMH|
8,000 »4E 110 3,520
OSPHY 2t A7
50,0002 =102 500
OS7 ULEA ARE 72
300,000 %14 300
Ozet=A EW #Y 310,000& #72] 2,170
OdiolY =gy €W 7
295,000& 62 1,770
OO0 7L (EXN, 22 &)
200,000 %14 200
OssiEa 29 B2l M4 7Y
6,000 20 * 122 1,440
OSztdd Z3& € &8 & 83 7 9,074
— SN A0 SF(100218H) 7
1,9702 %1302+ 122 3,074
S EECECE
200,000 * 128 2,400
—Zpae HAU8E 7Y
300,000& * 122 3,600
OSsEd ==t e 2¢
150,000 *50H 7,500
02 S3=gHl 21,397 21,403 B
OS2 N2 HIe3(2F, JIZ28)
1,700,000« 128 20,400
OS2 22l B 224
1,7303 x12L40H+ 123 997
202 04l 5,400 2,800 2,600
01 =LHAHI 5,400 2,800 2,600
OSTNEAY =& Ol 5,400,000& 5,400
401 Al HIZ S OHbI 800,724 1,828,096 1,027,372
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Bo: PRTENY L BBISES @Y
el S EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
Of Al&t] 795,000 1,821,000 21,026,000
OZHE WHZYZ AES BRI
40,000,000 *14] 40,000
OJkE BEIIBAIL KT
10,000,000 * 100 A 10,000
OJIRIOIE FAE A& KX
45,000,000& *14] 45,000
OJIxt0E YEEY |XBS
10,000,000& » 14 10,000
OJIROIE ~ EATY 2R
30,000,000 *14! 30,000
OB2IB AT =22
1,500& %40,000m 60,000
OSsH¥e B4AE 81 ¥ 122
50,000,000& » 14 50,000
OSsH™e 2BIS ATY JIBEY FH|Y
N 40,000,0002 14! 40,000
OSaE RSN L HIE 2|
50,000, 0002141 50,000
OSsIR b2 ATy
20,000,000& x 14 20,000
OSSR NLS 228 K7L (OFKHH
E, 2Et2l 8) 10,000,000& * 14! 10,000
OZBEX XHE RS AlLTHIH)
50,000, 0002141 50,000
OB8E sw3a KXz
30,000, 00024141 30,000
OALTA LATHHOIL I SXE B
36,000,000 * 14! 36,000
OHTWIINOIS-SHBR HHPL(REX
) =XIoH 300,000, 00024+ 14} 300,000
OB4d 42X 2L E4 L |
7,000,000& 22 14,000
03 Al = THHI 5,724 7,09 A1,372
OSTRT HLAY A&
795,000,000& %0.72% 5,724
SN 20NL (24 S32IIX0e UHSHEE = 823,700 1,600,000 AT76,300
SAY) (M EAI)
= 500,000
= 323,700
401 Al HIZ 2018 823,700 1,600,000 AT776,300
= 500,000
2 323,700
01 A28l 823,700 1,600,000 AT76,300
OHTAIIOIE IS HBE THAY
500,000,000 *14] 500,000
== 500,000
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el S EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHTYIIRI0IE USHEE REA (2023
& AtgHIl) 323,700,000 x 14 323,700
NSHLAI (= 22 SE JIBAIE ZEAY 4,124,410 2,848,000 1,276,410
)
= 3,789,000
s 335,410
401 AIEHIZ SR HYI 4,124,410 2,848,000 1,276,410
= 3,789,000
Ea 335,410
01 Al&HI 4,124,410 2,848,000 1,276,410
Odd Y S3HEE JIBAIE A
3,789,000,000& x 14 3,789,000
= 3,789,000
OddlZ S8 JIBAIE R A (20234
AbiHI) 335,410,000& x14] 335,410
SAAT W SRME 2835 794,000 2,912,000 A2,118,000
= 100,000
Ea 694,000
401 AIEHIX 20HH 784,000 2,892,000 /2,108,000
=S 100,000
s 684,000
01 AlZ8| 784,000 2,892,000 A2,108,000
OgFAt JlsXlE H22H ESH]
3,000,000& 102 30,000
OSII2A} 2HHZE 243 A
400,000,000 » 14 400,000
OSIPDI& HE= | EXSA
22,000,000 *79H 2 154,000
Od& JIXt0IE 22 FHIAY
100,000,000 * 14! 100,000
O=dz 88 JIX0E Il EA
100,000,000 14 100,000
= 100,000
405 AHAHE S 10,000 20,000 10,000
01 AL =S F=H 10,000 20,000 10,000
Oodd JIxtlls 2g22 7
10,000,000 » 14 10,000
ST SSAEA(SSHUELE) =8AIY 500,000 2,610,000 22,110,000
= 500,000
401 Al HIZL 201 500,000 2,610,000 A2,110,000
= 500,000
01 A28l 500,000 2,610,000 /2,110,000
OH2lZ ST (SIU=LE) ZHAY
500,000,000& *14] 500,000
= 500,000
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el S EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
2SN (HEAIIRN0E 2E2E LA 1,200,000 400,000 800,000
HEAY)
= 1,000,000
Ea 200,000
401 AlEHIZ 201 1,200,000 400,000 800,000
= 1,000,000
o 200,000
01 AlZHI 1,200,000 400,000 800,000
O8BIIA0E E=Ed TEAE
1,000,000,000& *14] 1,000,000
[ 1,000,000
O&TAIIX0E BE3¥ T8 A (20234
AFSHI) 200,000,000 200,000
QISMEE MHASFHE ZEAY 995,800 0 995,800
= 766,000
=S 229,800
401 Al HIZL 048I 995,800 0 995,800
= 766,000
< 229,800
01 AlZH| 995,800 0 995,800
OQZTMENE MRBZHA ZHAY
995,800,000 * 14 995,800
[ 766,000
= 229,800
A e 7,941,909 11,481,169 23,539,260
= 1,645,000
S 2,455,000
ia 3,841,909
22X 2el 916,364 1,583,344 636,980
101 e124d| 107,124 63,204 43,920
04 JIZtN2Z2 X SE+ 107,124 63,204 43,920
OZZXl AES 2004 2te| eIfRY 97,144
—Jl=s 79,2003 x3H x25L « 12 71,280
—F=5=4 79,2003 «32*45|x 12 11,405
—E =g 79,2008 +x3& * 122 2,852
—2ta| 5,0003 32 *x252 «12& 4,500
—4HEE= 71,280,000 %9.97% 7,107
OJIxt0tEe ¢& s3Ehl fY
79,2003 x14H -0 9,980
201 er23y| 174,740 193,640 18,900
01 AtR2t2|HI 77,540 70,040 7,500
O2Z X Ad= &gtz tdle+2
200,000 x6IH =% 123 14,400




2A:

-

=

221
N RN U BRUSHE MY
ol 2 O (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ& X JHelst=xelAld fE 2l
700,000 +3H ~+ 123 25,200
o2&k s)| etz UHde++=
150,000& #2012+ 128 3,600
O 2t5a 2AC|1ES 7Y
155,000 x40 2% 123 7,440
ORXLSLEAZ) RIIAE FIIBA
nag 30,008 655+15 2,100
ORII(LSLYLUAZ) LEAME A
2,250,000 x25+23] 9,000
Ooug LEAE ZIIZA
2,250,000& 22 4,500
OS2I BA LIEMERIX) FIIBA =
== 2,650,000 *23 5,300
O&ZX 2AE BE =225 K=
3,000,000 +20H 2= 6,000
2 S22l 61,200 51,600 9,600
OzZXl s 61,200
—CEAL 22X J)IRs
600,000& 122 7,200
—TEA 2EX ol
300,000& * 128 3,600
—CEAMEREE VRS
200,000 * 122 2,400
—ed =80l dies
260,000 * 122 3,120
—Mldu g2 8JIes
1,000,0002 122 12,000
—882 s A= &IIe=s
1,000,000& «12& 12,000
—SIDI2R e M|Rs
300,000 * 12 3,600
— 2428 ~=z3 MRS
200,000& * 128 2,400
—2EAAY FHBE L HEA ®II9D
400,000 123 4,800
—B482H Celda dIIe=2
200,000 #4H ~+ 123 9,600
—2EN SMR3
20,0003 »20 A+ 128 480
03 A2 I 36,000 72,000 236,000
Ol deigd diM olgeE
10,000,000& *23] 20,000
o223k gdHE 2 OlHE
2,000,000& +4 0 A+23] 16,000
401 AIEHIY 20 634,500 1,296,500 662,000
01 A28l 634,500 1,296,500 662,000
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SN 2B
N RN U BRUSHE MY
el 2 R EER=E)
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